2025 4= 07 H 10 H

Y HEERG—E

Rt — R
fliks (Bfiti) : Kgdhly

BEHBA R
iR ik
Iy TEEM HoR(Ke)  PIE | R B g gRKe) PIE | PE %
BRIV E) Pt 160 930 930 930
I BRE | 1496 | 1060 | 1060 | 1060
FAMTED Eifm | 1122 | 1580 | 1580 | 1580
#M/ <y FE | 222 | 3700 | 3700 | 3700
FEEECS ANRYT7 93 1650 | 1650 | 1650
SISEEE fagali | 120 | 1500 | 1500 | 1500
BT —F F1 457 2330 2330 2330
BRAF e 10 1750 | 1750 | 1750




4 AEERG|—K

A —KE

af 7/ T7H 10H filits (Hiffi) @ Kebi= v
RG] FE B |
filiks it
anh FEEM B E (Kg)| i e FE | FEEM R Ke)| AE g il
FRART-D TR 15| 1,458 | 1,077 810
EZ3an T 72 | 1,350 | 1,256 | 1,134
TED & Al 30 1,836 1,788 1,782
RKEROGH
EZ 82 G [E] 47| 2,808 | 2,712 | 2,646
HNT=
HIO T 2 8, 640 8, 640 8, 640
B R 1 2,484 | 2,484 | 2,484
=
51 =R 10 | 2,808 | 2,808 | 2 808
IRIRE T
FESY 3 15 6, 480 2,862 1,404
HY JEAsE 6 | 5,940 | 5,265 | 5,130
CC& BR 19 5, 400 2, 331 1,512
INH HE 2 | 10,260 7,560 | 4,860
XE
D E B 60 194 194 194
HP I & 32| 2,160 | 1,934 | 1,836
HIRE
PoEE
E33NMEEE BERE 108 | 2,322 | 2,225 | 2,214
0T avEs 113 2, 268 1, 896 1, 566
Wh L T 45 648 563 324
ObZ
TH T Y75 14 972 818 756
Hdn U
Y = 26 3,780 1, 209 518
SAFE
TAVH =1 8 | 12,960 | 9,491 | 7,668
E AL YD
OB = I 141 6, 048 1,436 972
E3i 3y
{AHESAH
WAEESA
EbIEESA N 232 1,674 1,384 1,242
R Fr3) 64 | 2,160 1,956 | 1,620
bbb — 34 1,836 1,449 1, 080
6ok
ERDBOB i 3 2,592 2,592 2,592
Ay
E3 XS
AT




S 7T HE

TH

10 H

4 A EERG|—RK

St —HE
filiks CHAT) : Kgdh7= b

RG]

FHXSERG |

fi

FEEM

& (Ke)

ki3

.

Y

i E

ZiE

TR

& (Kg)

i

HiE | TE

¥
[

Y RV NAYE

mRTeZ

Tz

MR S

B

46

2,970 2,735 1, 890

IR Z OF

T xR

18

3,456 3,456 3, 456

(B = Z 8

N

DL

S EE]

?;“ WS AE
o S

R — A

PR IR R

THH

11

1, 350 1, 350 1, 350




YHEERG—E HRSHE—E
Sf 7T T7TH 10H fih#s (BLH) : Kedh7= "

5 = F R0 4 5 i

{lilli:3 i

i

iLE4 TREM |5 E Ke) | &E e EHEEM KR K| BE | PE

¥
=
X
=

BIRS A Z W2

AR Z

EETas

TERET EIR 75 3,554 | 2,874 1,512

7 BT 2 N Z DD 160 626 626 626

MR & 2T

PN

MDA

LESE]

AR S A E

R S 3

iR — A 5

AR




W HEERS—& BRI — Y
SF OTHFE TH 1008 k% (BE{M) : Kedb7 Y

0 HR5 TS

i it ¥

i

¥
T
X
=

sh EEEM (R (Ke)| Bl i {E FEEM [ E Ke)| BE HfiE
H0DHA
DR E
Wb LET
7=3< 0
Wi LT
5 5OHTF
LL»%
®IET DD

Fohd
mEAE

R
WA

W

BmEY

EX OF2

TwT

FRIZLA

HAXF

EERR

E72 50

FFEE

L HAEL

A

AV

EZ2-Z VAR 5 4,374 4,374 4,374

5HEREY

BEDTR T

EXES

EERe

FTISAE

T ET




